Hot Chilli Challenge

Calculating Time

1. Work out the duration of the journey:

a. 840m – 20m/secs
b. 280m – 40m/secs
c. 960m – 80m/secs
d. 7200m – 400m/mins
e. 300m – 90m/mins

f. 550miles – 50miles/hour
g. 9550miles – 50miles/min
h. 1120km – 300km/day
i. 6600cm – 60cm/sec
j. 14000m – 100m/min

Problem Solving: 

A return journey from Glasgow to London is approximately 1080 miles. How long will this journey take by coach, travelling at an average speed of 90km/h? 
Remember:
TIME = DISTANCE/SPEED
e.g. TIME = 100km/4km/h


= 25 hours
Include your units in your answers!

Partition your questions e.g. 72 x 40 






= (40 x 2) + 10(40 x 7)






= 80 + (10 x 280)






= 80 + 2800






= 2880

